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PART -1: MENTAL ABILITY TEST
(For Student of Class VIII)

Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet.

2. There are 90 questions in this booklet. All are
compulsory.

3. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ‘v” or ‘X’ in the OMR sheet.

4. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

5. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have left in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/loose paper.

7. Each correct answer will be awarded one mark.

8. Please return the OMR Answer Sheet only to the
invigilator after the test. You can retain the Question
Booklet.

9. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

uGH - I : varsHmer Coiiey
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Ci7id : 90 HLbl_rigsiT Qurss wHIGLETS6T : 90
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afleoTT 160 GBTGLIMUS SMILSNES (p6tT CSTOSSIL(HTar
Al H\(LPEOMSEMETS SEUGITLITS Lilg &S6LD.

1. aflen_semer OMR eflenL_Ssmafls @M&e Goustor(HiLD.

2. @5Csiaillsh 90 eflarT&ger o drerar. 9emerrsSHnEL0D
S_Lmwub eSlemLwefl&aiuL Golesor(HLd.

3. paQeurm eflarmain@n Qar@ssiul (herear wTHm
aflemLsefledlphg sfliumrer ellenLulsmers &etorLMihs)
Ijms OMR aflsnLgsmefled 2 fl o' L SHled sl Hm
ureouruflesr.  Guesrmeflesrmey S GCeusmor (HLD.
v opmih X’ gl GuiGsmar OMR aflsnLssmerfls
QNS Fol TG

4. Qs MaMESTEHSHES RSISSILLBSTET STev YjaTe| LHss
GODUTATSTS @HUIUST 6Th% s ellarmailnEL
& (D560 CETSHmaE Gsmaniflssmos Crrsms Lss Anhs
(psmmuiled LeTLOSSeLD.

5. sremoug e aflammeilng ailen, Qsfliuailswmeu sTarmmed
IHCGW sTaaflmun Gainumod 9Hs5s ellarmelnE
Qeoean. CrrlipresTed Yseld ol H&6ssTn
efleorms&emer (pwme Gsinue .

6. aflenL_gmars sevor_plil GLoMGISTETERLD aLfl(LpedME EmET
efleorm mreV@STEGLIL 6ThIE Goustor(omeTayd GlEiiig)
@arearereorn. OMR  eflenLggreflGoor  gag)
gerflHEmeaflGour QFiINLS S L Tg).

7. @aQeur@ sflurer ol &G0 @ wHUGLemT
QULBISLILIHILD.

8. GCaiey Yuhs NImE OMR ailoLssTemar WL (B

oS & euarsmemfiiLmerfiLd Qarhissealn. eilarmmrs
Gam@Lismu Gaiielr sT(N581&F Caasusurid.

9. sr(Bg;sctan &le55 QgL QamsTer Geouetoriy (L @gg;f,]e‘msu
DU 1 @a&Es uHOamTmamTS 5aIMTL6
SO eb.

USS5mES H(HLULL LSHoelsss QML hisa|L.
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MENTAL ABILITY TEST/wengdlperr Csirey

Direction (Q. No. 1to 7) : euLbl(pemm (eSlesT 61688 1 (LPG6V 7 6uewT) :
Find the next term for the following series. emeumd Cgrii euflansuler (HSFH eu(HLD
2 mlienLs SHewTLHlwe]|b.
1. 1, 4, 27, 16, 125, 36, 1. 1, 4, 27, 16, 125, 36,
1) 216 2) 49 1) 216 2) 49
(3) 343 @) 512 (3) 343 4) 512
2. 0.5, 0.55, 0.65, 0.8, 2. 05, 0.55, 0.65, 0.8,
(1) 0.82 2 0.9 (1) 0.82 2) 0.9
(3) 0.95 @ 1 (3) 0.95 @ 1
3. 30, 45, 75, 105, 165, 3. 30, 45, 75, 105, 165,
(1) 225 2) 185 (1) 225 (2) 185
(3) 180 4) 195 (3) 180 4) 195
4. A, BB DCEFDHE __ ,_ . 4. A, BB D CEFDHE __ |
1) EG 2 JK 1) EG 2 JK
®) 1LF @) FI ®) LF @ FI
5. BDF, CFI, DHL, 5. BDF, CFI, DHL,
(1) CIM 2) EIM (1) CM (2) EIM
(3) EJO (4) EMI (3) EJO (4) EMI




([CODE|vIII| T | 21 |

6. Z2A, X3D, V5H, T7M, R11S,
(1) P13Z 2) P15Z

3) PIY (4) P13Y

7. 1,2,6,15, 31, 56,

1 92 2) 100

(3) 81 4) 112

Direction (Q. No. 8 to 10) :

One term in the number series is wrong. Find out

the wrong term in the following sequence.

8. 720,120, 24, 8, 2, 1.

9. 6,10, 20, 25, 48, 52, 104.
(1) 20 2) 25

3) 52 4) 10

10. 520, 328, 232, 178, 160, 148, 142.
(1) 328 2) 178

(3) 148 (4) 142

6. Z2A, X3D, V5H, T7M, R11S,
(1) P13Z 2) P15Z

3) PYY (4) P13Y

7. 1,26, 15,31, 56,
1 92 2) 100

(3) 81 4) 112

audl(penm (eSlevtn 6T6vwT 8 (LpFHeL 10 euewry) :

emreu(md Qgmir euflenaudled e eTewT Heumms
2 GTENGl. SEUDTET GTEHTENEmTd: HevTL_IMHUIe LD

8. 720,120, 24, 8, 2, 1.

9. 6,10, 20, 25, 48, 52, 104.
1) 20 ) 25

3) 52 4) 10

10. 520, 328, 232, 178, 160, 148, 142.
(1) 328 2) 178

(3) 148 (4) 142



Direction (Q. No. 11 to 20) :

Find the missing number/letters in the following

sequence.
11.
O @ @
1) 90 @) 91
3) 35 4) 75
12. 10 9 5

8 6 7 5 10 11

13. 0

1) 18 2) 20
3) 22 4) 23
4 4 6
14. 2|30 (3 2/ 54 |5 4|86 |?
1 3 3
1) 4 2 5
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euLfl(pemm (elevstm 6T6voT 11 (LpFH60 20 6r6WY) :

emeumd Csmreuflensufledr eNH L eresor/
T(PSFIFENETS SarTL_Mlwe]LD.

11.
© @ 1
(1) 90 @) 91
(3) 35 4) 75

12. 10 9 5

8 6 7 5 10 11

(1) 100 2) 68
3) 62 4) 70
%
13.
RS
1) 18 2) 20
(3) 22 4) 23
4 4 6
14, 2303 2[54 |5 4|86 |?
1 3 3
1) 4 2 5
3) 6 4) 7
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15.

16.

17.

18.

80 ? 180
121 8 2 | 21 16
1) 160 2) 140
(3) 210 (4) 100
BD, | CE,|DF,
EG, |FH,| Gl
HJ, |1Ks | 2
(1) JLy (2) JLg
(3) Ly 4) M,
2 | 4
L g 81K 2
5 o121,
7Y 2
(1 8 (2 4
3) 6 4) 5
P G
F N
22 | 21
27 | 15
K J
? E
1 M 2 P
B Q “4) S

15.

16.

17.

18.

80 ? 180
12| 8 2 | 21 16
1) 160 2) 140
3) 210 (4) 100
BD, | CE,|DF,
EG, |FH,| Gl
HJ, |1Ks | ?
(1) Ly (2) JLg
(3) Ly 4) 1My,
2 | 4
L g (81K 2
5 o121,
7Y 2
(1 8 (2 4
3) 6 4) 5
P G
F N
22 | 21
27 | 15
K J
? E
(1 M 2 P
B Q “4) S




19.

4 | 5| 6|40 716 10|/
121 8 | 5 2

(1) 240 (2) 150

(3) 160 (4) 80

1) 16 ) 24

3) 8 4) 20

Direction (Q. No. 21 and 22) :

Find the term which is not associated with others.

21.

22.

(1) Asia
(2) Antarctica
(3) Africa

(4) Argentina

(1) Skin
(2) Large Intestine
(3) Bile duct

(4) Oesophagus

[CODE|vII| T | 21 |

19.
4 |1 5| 6|40 71610 |4y

121 8| 5 b
(1) 240 (2) 150
(3) 160 4) 80

20. 1 (06 @@ &

® 13) @

1) 16 2) 24

3) 8 4) 20

euLfl(pemm (ellewm 6TevoT 21 LOOHMID 22) :

&G Qar@ssliulHerereunmer Coumii’ L
QRATEMME HEHTLMIILIGLD.

21. (1) <FHwur

(2)  <HEWTL_TTIG ST

(B) < UuafssT

(4) orClyarig.erm

22. (1) Game
2) GQumrELe
(3) WYsslienu

(4) e e &ELpmUl
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Direction (Q. No. 23 and 24) :

Fill up.
23. 4:19::7: .
(1) 54 (2) 55
(3) 57 4) 59
24. Darkness : Lamp : :

25.

26.

27.

(1) Fatigue : Exercise

(2) Study : Classroom
(3) Medicines : Illness
(4) Thirst : Water

Arrange the following words in a
meaningful sequence.

A) Judge (B) Police

C) Punishment (D)
E) Judgement
(D), ), (C
(D), (B), (A
(D), (B), (A
(D), (B), (€

Crime

(E)
(E)
)
)

~
~

(A),
(C
(E
, (E

~—
~

~
~

~—
~

~—
~

(C
(A

~—"
~—
~

Arrange the following in alphabetical

order :

) Foliage (B)
C) Follow (D)
1) (A), (B), (©), (D
D), ©), (
(A), (B), (
(A), (©), (D) (B

Folk
Follicle

N
2

9
’a/\

(A
(
(
(
(
4

)
)
3)
)

A word which cannot be formed from the
word ‘Indispensable’.

(1) Spend (2)
(3) Perishable 4)

Disabled

Panel

euflpemm (elestm eTeveT 23 LOHMILD 24) :

Blrliys.
23. 4:19::7: .
(1) 54 (2) 55
(3) 57 4) 59
24. Darkness : Lamp : :

25.

26.

27.

(1) Fatigue : Exercise

(2) Study : Classroom

(3) Medicines : Illness

(4) Thirst : Water

Ep@N UL Hérer QU TS 60 & & 6n 6T
SITHSApeTer CSTLITS OTHDIs.

(A) Judge (B) Police

(C) Punishment (D) Crime

(E) Judgement

(1) (D), (B), (C), (A), (E)

(2) (D), (B), (A), (©O), (E)

3) (D), (B), (A), (E), (C)

“) (D), (B), (C), (B), (A)

TN LT 30 & cauflenaliLig
auflensiLI(H& G5

(A) Foliage (B) Folk

(C) Follow (D) Follicle

1 (A (B), (©), (D)

2 (D), (©), (A), (B)

B) (&), (B), (D), ()

“)  (A), (©), (D), (B)

‘Indispensable’ erartn GUTTEem Ul 60l-(HBHII
Sjewll (UDTS UTTSMms.

(1) Spend (2) Disabled

(3) Perishable (4) Panel



28. A word which can be formed from the word

‘Responsibility’.
(I) Respect (2) Spore
(3) Sponge (4) Resistivity

Direction (Q. No. 29 to 33) :
Change of signs.
29. IfPisdivision, T is addition, M is subtraction

and D is multiplication then what is the value
of the expression 12M12D28P7T15 ?

1 -21 @) -15
3) 15 4) 39

30. If’x’standsfor’—’,"+"for“ +’,"+" for’ =+’
and ‘=’ for * X’ then which of the following
is correct ?

(1) 15-5+5x20+10=6

(2) 8+10-3+5x6=8
B) 6x2+3+12-3=15
4) 3-7-5x10+3=10

31. If'4+ " means’X’,”— " means’+’," X’ means

’ 4

—"and '+

7

means ‘ +’ then the value of

(36X 4)—8x 4
4+8x2+16+1

3) 12 4) 1

32. If < means —, > means +, =means X,
# means + then27 >81#9<6=5is:
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28. ‘Responsibility’erenrm eumigengulled-(mbg
Siewll CumID UTTSenS.
(I) Respect (2)
(3) Sponge 4)

Spore
Resistivity

euLbl(pemm (eflewtm eT6vwT 29 (LpFHEL 33 6L6EMT)

@GOG rHnSED :

29. P eraiLg eau@Sse eree|d, T-g
Sl Lrse|d, M-8 sH&50TH6 D,
D-o OQusseorsea|lb CsrerLme
12M12D28P7T15 -eor LD‘QCJ]I.JI_I GTeuTeuT ?

1) -21 2 -15
3) 15 4) 39
30. ‘X’ eremugl ‘—’, '+’ erevugl ‘+’, ‘+’

GTETLIG| “ + LoHMILD ‘ — eTevTLig) “ X erevfled
YemmeumeuaeupmieT sflwmeng) erg) ?

(1) 15-5+5%20+10=6

2) 8+10-3+5%x6=8

(3) 6x2+3+12-3=15

4) 3-7-5x10+3=10

31. “+'ereviuig) ‘X’ erenme b ‘ —" erenig -+,
‘X’ eremg) ‘—’ eree|d ‘+ erergl ‘+”

(36x4)—8x4

4+8%x2+16+1

TaTaLD O&TErL_Te

L.
1 0 (2)
3) 12 @) 1

32. <eremug — 8& GOHSGLW, > erenLg +
0& GOSGW, =eTaTlgl X B& GN&ELD,
£ TTLG + B& GHEGL erailed
27 >81#9<6=5-5G& FLOLOTG) :

(1) 66 2) 36
3) 6 4) 30
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33. If 4+3=161279, 5+6=25301136 then
3x6=___
(1) 918936 (2) 361899
(3) 991836 (4) 931836
34. How many odd numbers are there in the

sequence which is immediately preceded and

also immediately followed by an even

number ?

73451963948735863852243496
1 7 2) 4
3 5 4) 14

Direction (Q. No. 35 to 39) :
The following diagrams show some relationship

among three terms. Choose the correct diagram

from A, B, C, D and E which corresponds to each

group of terms.

@) €9 °
@o@

(D) (E)

35. Females, Mothers, Doctors.
(1) B (2) E
G) A 4 D
36. Sun, Star, Moon.
(1 C 2 D
3 A 4) E

10

33. 4%3=161279, 5+6=25301136 erafled
3x6=___
(1) 918936 (2) 361899
(3) 991836 4) 931836

34. Qgmiile @rieL GT GVOT & &0 6T
(PETETSTEHELD, 19 6tT T & IT & 61 LD
CarerL @heamll LML 6666
TRt & En .
73451963948735863852243496
1 7 2) 4
@) 5 4) 14

aufl(pemm eSlestm 616w (35 (LPFHEL 39 66MT) :
EC

&6 ol eu meoTm) LD

QarH&sLiul (Herer LIL_TRI & 6T
T 2 MILIL & (@hE G WD
@eL Cuw 2 drer Gsrifenus sml(h&lerme.
@albeurm elamalp@n CgrLfyenLw
sflwrer uLgeng Carhsslul(herer A, B, C,
D LD D M) LD E
Cab0lg(H&sHe]|b:

@) €9 °
@o@

(E)

L LBl & 6rfl 60l (5 B gl

35. @uemasm, STUILDTTSET, LD(HSSHIEUTSHET.
1) B 2) E
G) A 4) D
36.  @flwer, pLasdrbd, Hleom.
1 C 2 D
B A (4) E



37.

38.

39.

40.

Tree, Eggs, Nest.

‘A’ walks 10 m towards east and 10 m to
the right. Every time turning to his left he
walks 5 m, 15 m and 15 m respectively. How
far and in which direction is he now from

his starting point ?

10 m - West
10 m - North
5 m - West

5 m - North

11

37.

38.

39.

40.
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LOTLD, (PL DL &ET, Fn(h

‘A’ eremLeuT L@ Sensufled 10 LS CFermm)
196 cueng) LIGsLWTE 10 5 Cgemm. e
QsTLiBg, @ealbleurm  wpemujb
QL ULssWLTE WG 5 LS, 15 LS mmyb
15 1S Qgenpmt. <4 rbl9s6s QL SH(HHa
sHGurg ehs Hamasuled ereualeTay
Qgrenevailed o emerrm ?

(1) 10 15 - Gon

(2) 10 1§ - UL &G
(3) 515 - Cuwns

4) 515 -aLsEg
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41. Iam facing west. I turn 45° in the clockwise
direction again 180° in clockwise direction
and then turn 270° in anticlockwise direction.

In which direction am I facing now ?

(1) West

(2) North-west
(3) South

(4) South-west

Direction (Q. No. 42 and 43) :

Study the following information carefully and

answer the questions 42 and 43.
In a family having five members A, B, C, D and E.
B is the son of C but C is not the mother of B.

(@)

(i)

A and C are married couple. D is the
daughter of A and E is the brother of B.

42. How many females are there in the family ?
1 2 2 3
3 4 4) 5
43. Who is the sister of B ?
1 A @
3 D 4 C

12

41. prer  CGopeE dHosowl UTTSF
BivSCmer. sHCLTE Siqary Sengudleh 45°
Hmola Hlearm Sar@God 180° &g&Ty
Sensuder Hmwd, 9m@E 270° Sgsrry
erdlidensuller Sl HinHCerr crefled

sHCGurg Brer ergdlenserws Crras

BiHAGoer ?

1) Guwpe

2 euLCwne
3 QsHE

4) CzaCGope

auflpenm (eflewtm eTeveT 42 OMID 43) :

&G QsTHESILL L SH6UDSMET SeUETLOMEL]
Uigdg  ellerm 42, 43-0@G
e wefl&sayd.

GT GOoT .

®m GObusdle A, B, C, D bpmid E. erar
sobgl G 2_eTereit.
()

B eremueui  C-6T W&H6T < &MTED

C eremueUm B-air STl ee.

i) A wpmbd C Qeud F(HLWewTLoTer

gbuglser. D eramLielT A-&T LDSGET.
E eremuieu B-eom sGamgren.

42. @Obusded aTHFmear  CuaTSET
o GGG ?
m 2 2 3
@) 4 4) 5
43. B -en sCargh wimi ?
H A )
@ D 4) C



Direction (Q. No. 44 to 48) :

From the given diagramatic representations
answer questions 44 to 48. Rectangle indicates
people who speak in English, Square indicates the
people who speak in Tamil, Circle indicates people
who speak in Hindi and Triangle indicates people

who speak in Telugu.

G
E

H

£ifino )

i

D
44. Which people can speak both English and
Hindi ?
1 A (2) B&C
B C (4) A&B

45. ‘C indicates the people :
Who speak English
Who speak only Hindi

Who speak English and Hindi

Who speak Tamil

46. Which people can speak Tamil and

Telugu ?
(1)
(3)

Iand H E

(2)

Eand I 4) H

13
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euflpemm (eNlevT 66wt 44 (LPFHEL 48 6UEDOT) :

ECp Oar@ssiulBerer UL Gdled

OFcueusd erarug YmFeob Cusbd
LD&ESHENETILILD, FGITLD SO CLIGID &S eTU|LD,
afl pé)
W&CsTanTd Csemi@ CU&EFL WESMETWD

GD&HDG erafled, ellerm erewr 44 pga 48

eueny 2 amerm elenTEs(Ehd@ ellenLwaflésaLb.

QLD Cu&d WwWEFMETW LD,

G
E

H

ifine )

1

D

44. ymdlob wHpbd allbd RHu @Qwm

Qumplseerid CU&D &SET
(1) ()
(3) 4)

A B&C

C A&B
45. 'C’ GN&GL W&SHET :

< miFleon CuaLIeTEHET
adlBdl L Hb CusUeTseT
b wHhmb ablbs
Cuaueurser

sl CuaLIeTgHeT

46.

S Lo M) LD Ol % eI &

Qumflenws CU&HLIGITSET.
(1) 2
3) 4)

I opmib H E

E womib I H
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47.

48.

49.

50.

51.

Who speak only Tamil ?
M 7] 2 A
3 D 4) 1

The people who speak Tamil, English and
Hindi :
1 A
B) A&B

(2) B
4 H

In a row of trees one tree is 10t from either
end of the row. How many trees are there

in that row ?

1)
®)

(2)

21 (4) 22

In a row of boys Ravi is 10t from the right
and Raghu is 8 from the left. When Ravi
and Raghu interchange their positions,
Raghu is 25t from the left. What is the

position of Ravi from right ?

(1)
(3)

(2)

27 (4) 28

If day after tomorrow is Sunday, then what

day was 3 days before yesterday ?

1)
®)

Sunday (2)

(4)

Monday

Tuesday Wednesday

14

47.

48.

49.

50.

51.

S L (HD CU& D WESET Wi ?
® ] 2 A
®) D @4 I

s, g mdleon wHmb ablbs Cusd
LD&SET
1 A
(3) A&B

(2) B
4 H

auflewnswrs o drer wrmseaile®, @@
GOILAL L wrwrearg <elefleng-uder
)
10 eugl QLGS o dTerg erene,
Sjeuauflengullgerer Clorgs wrmiserflen
6T GOoT G| &5 6 &

(Lp &0 &1 & il 60l (15 [ &I LD

1) 20 2) 19
@) 21 4) 22
@m afleoslle reill  eremueur

aoflmbs 10 gl Qrsdaib, 16
eremieu @ LBl(BHS 8 eugl QL SHaILd
o_GTeTai. @(HeU(HD SHISKET QLSS
Q@(HEU(HECSTHeUT LTHME GleTewTL_dled
TG ererueui @UISlmBE 25 elg)
QL sder 2 arerm erama, euaLl(HBHS)
rell ereLieuflem @)L Lb
1) 25 (2)
G 27 (4)

26
28

BTeneT WMIBTET @hruidnms &lpenio
aaflld, Crhenm&@ eperm BrLser
WpHamSW &lpeno
1) emin
(3) O&eueumdl



Direction (Q. No. 52 to 56) :

@)

52.

53.

54.

55.

A, B, C D, E, F and G are sitting in a row

facing east.

C is on the immediate right of D.

B is at an extreme end and has E as his

neighbour.

G is between E and F.

D is sitting third from the south end.

Who is sitting to the right of E ?

(1)
()

A 2) C
G 4 D

Which of the following pairs of people are

sitting at extreme ends ?

(1) Aand B (2) AandE
3) CandB (4) FandB
Who is sitting next to A ?

(1) B (2) C

@ D “4) G

D is sitting between

(1) AandC (2) AandF
3) CandE (4) CandF

15
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euflpemm (eXlewTm 6T6vuT 52 (LPSH6V 56 66MT) :

@)

52.

53.

54.

55.

A, B, C D, E F npmb G HCumt e
auflenguier dwse@ Hasamw Crrsdl
DLDITHGIGTETEOTIT.

C eraruelm D-a7 aleg UL&SSI
Sleuers CTLhgl o emermi.

B cratLieuim euflengullen em (penemuded
sanL_Slurse|bd E-o sarg | malabd
Q& TaT(HETeTTHT.

E wppod F-5@ Qeruwled G
SLDTHGIGTEITITIT.

AsHE@ weoarlldmhg wpapreg)
@Lgdleb D 2 aremmi.

E -6 euavgl LmsSle rbdlmLriieurr
wImrr?

1) A
3) G

(2) C
4 D

auflensulleo @ram@® (pevarsaflebd

(s WITE) STHE(HLILIGUTSET WITi?
1) (2)
(3) 4)

A womib B A womid E

C wpmib B F wpmib B

A-5@ 205G SILTHSHMHULGIT wiri?

1) B 2 C

3 D 4 G

D eretueum @ e ule
S|THE HSS DT,

(1) A wpmib C (2 A womid F
(3) C wmmid E (4) Cuwmmd F
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56.

57.

58.

59.

60.

Name the person who should change place
with C such that he gets the third place from

north end.

(2)

(1) D E
F 4 G

3)
In a Certain Code, DOCTOR is coded as

FMERQP and LAWYER is coded as
NYYWGP, then PLAYER is

(1) RJCWGP (2) QMBZFS

(3) OKZXDQ (4) RNCZGP

If GO =32, SHE = 49 then
READ=_______

1) 28 2) 78

(3) 80 (4) 68

If “green’ is called “white’, “white” is called
‘blue’, ‘blue’ is called ‘red’, ‘red’ is called
‘yellow” then what would be the colour of

human blood ?
1)
3)

green

blue

()
(4)

yellow

red

In a code language “mok dan sil” means
“nice big house”, “fit kon dan” means
“house is good” and “amr tir fit” means “cost
is high”. Which word stands for “good” ?

mok dan

(1)
()

(2)

kon 4) fit

16

56.

57.

58.

59.

60.

ULEG poarulelmbg epermmDd
@Lsdle C wrCaar@®mn erafe,

SeU@LET  WrT ety QLSS
uflormdlé Gamerer GeuewT(Hid ?

(1) D (2) E

@) F 4) G

DOCTOR ereruieng FMERQP ereneyibd,
LAWYER erenmiend NYYWGP, eremeyid
@M&sTed PLAYER eramugan @mlui®

(1) RJCWGP (2) QMBZFS

(3) OKZXDQ (4) RNCZGP

GO =32, SHE = 49 erarfl éd
READ=______

1) 28 2) 78

(3) 80 (4) 68

‘LEFmE erarLg ‘GleueTeneT erareyLD,
‘Beold’ ererrigy ‘Haly erameyd, ey
GTGTLG ‘LDEHFET eremeyld Gl magrLmed
el @rsden Hipb areiran ?

1) 2) EpseT

) (4)

L& g
Beod Sy

@ @raslwu @oluil® Gwmuie “mok
dan sil” ereLig) “nice big house” eresayLd,
“fit kon dan” ereig “house is good”
eTedreLd “amr tir fit” eresrLig) “cost is high”
GM&ssLiLBdng erafle,
“good” eT@rLIGHaTe GMIUI(H

(1) (2)
3) @) fit

GT GG LD

mok dan

kon



61.

62.

Find the missing letters.

abc_d_b_d_ab_dd
(1) cacadc (2) dacdc

(3) acbdc (4) dacdd

The sum of the present ages of father and
son is 82 years. Ten years ago the age of son
was 15 years. The present age of his father

1S

Direction (Q. No. 63 and 64) :

63.

64.

If all the vowels are removed from the
alphabets, which letter will be 7th from
right ?

If the above alphabets are arranged in
reverse order which letter will be 12th letter
from the left ?

17
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61. el T (PSHHSMETS
ST MWD,

abc_d_b_d_ab_dd
(1) cacadc (2) dacdc

(3) acbdc (4) dacdd

62. ghag WHMD waaflear FHCUTMHW
auwgsaflenr  sa(hge 82 10
QU(THLBIG@H&E, (PETL oseier auwlg) 15
<, &7 () & 6T eraflev, & b 6n & udl et
sHCUTMSW UG
(1) 63 2) 67

3) 57 (4) 87

euLbl(pemm (eNlevt 6TevuT 63 LOHMILD 64) :

63. Y mdle ersgsatear aflanguie

Qmbg 2 Ul er(psgissmen (vowels)
BsHwifen, ecuoliypllphg 7 eug

QL gdlerer er(psg) :

64. ComsarL gl T(WPSHISSMmer
@Laiob wropd  aflestiu@®ss

T(pgILEUTE) QLiypBlGHHE
12 augl @)L Gdled 2 6Tem 6T(p&F).

1 w (2) N

¢ Vv 4 M
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65.

66.

67.

In a code, A and B take values from 0 to 9.
If 1BA+ ABA=8B2, find the value of
A and B.

1,0 9,6

6,9 6,0

Number of squares in the given figure is

Q) 17

4) 12

Two position of a dice are shown below
when 4 is at the bottom, what number will

be on the top ?

18

65.

66.

67.

@@ GOWNLH wpeonuld A wHmb B
S Fwuemal 0 g 9 eauarulemer
wdlliens () & Im vt (1) 6T 61T GO
Sbpemuiler 1BA + ABA =8B2 erafled, A
wHmIb B -6 wSlliser wenGu

2) 96

4) 6,0

Qar(H&sLl_(heTer LI Sleb ggirmisaetien

T GHOTGO0T| & 61 G
1) 20 2) 17
G) 18 @) 12

@@ usmiLuiler @mCeum Hlaneser
SrUUL(HeTeTer. L& 60 L_u9 6ot
S liussd 4 erer o erer GCumT
usen_Wler GueL@GHude o arer 6T

TG ?

W &



68. Find out the word which is least like the
other words in the group.
(1) traveller’s bag
(2) suitcase
(3) wardrobe
(4) trolley bags
69. Choose the figure which is different from
others.
ol | A |[o]]|/0\ | /o)
A B C D E
1 A (2) E
() 4) B

Direction (Q. No. 70 to 73) :

Identify the figure which is the continuation of the

given three figures.

X O@ X+ @&
70. ?
® 4|+ OO0 x
+ O O X
(1) “ @ (2) L @
o + @ +
3) o (4) o

19
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68. Sp@OLGLBdTer  euTTgangsarte
rmUl L gertenm CHrbHolsHESaLD.
(1) traveller’s bag
(2) suitcase
(3) wardrobe
(4) trolley bags
69. QarThHssLuLl(HeTer ULl & el
CoumuLl L gemenmd HeuTL_Hlwe]Ld.
ol| & |[o]]/o\|/o/
A B C D E
1 A (2 E
(3) 4) B

euLPl(pemm (eNlesT 6T6TBT. 70 (LPGFEL 73 euewT) :

QETHSSILLL eLpeTnl LIL higenersd CgTLhg)

aurGeuamigw UL gens, CoTHOSHESH|LD.

x O@ X+ @&
70. ?
® +|+ OO0 x
+ O O X
(1) “ @ (2) TP
o + ® +
(3) o (4) o
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71.

72.

73.

179y

Y

20

71.

72.

73.

LTI 2
o MU e JLLIT
o WL @ (UL
0BT 2
o |3D| @ |3D
o |dD|  w |ID




Direction (Q. No. 74 to 78) :

There is some relationship between the first two

figures. Find the other one from the options having

similar relationship.

3

74. E?

—~
—
N
—_~
N
N

—~~
W
N
—~~
o~
N

A © |6 T,
75. I«
O] A A
A A
(1) & (2) A
@ A\
©) O (4) &

21

[CODE|vII| T | 21 |

euflpemm (eXlewtm 6T6v8T 74 (LPSFH6EL 78 6UEDT) :

Wse @Qream(h ULBISERSGD Qe uld
gCasab em OsrLiy o drarg. CH
QamrLmienr =gt ule Casr(H&Hsl-LLl L
LI L_TBI & 1l 60l (15 [ )
CabllghHdsea b :

74. [Z

sflureren s

T

P
[y
N
—~
N
N

W
N
—~~

=~
N

A © |6 T,
75. ¢
Ol A A
A A
(1) O () A
@ A\
(3) O (4) &
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76.

77.

78.

(%)

@

22

76.

77.

78.




79. Select a suitable figure from the four
alternatives that would complete the figure

matrix.

Direction (Q. No. 80 to 82) :
Figures A and B are related in some manner. By

the same relationship between C and D choose
figure D from (1), (2), (3) and (4).

80.

23
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79. Qer(é&sLuL L 1B IT 637 (& LD T [ M)
ol em L& aifl a0l (5 15 &1 QLI (5 & & LD T 6ot

LLgeng Csira] GlFlweyL.

O

euflpemm (eNlevt 6168t 80 (LPSH6L 82 6U6WT) :
CarHssLul(Herer A OMID B LILBISET ¢(
aumsuiler GariryemLwg. C womd D
LI MBI & (@ & &) LD <G5
Lweru@Bgdlerme  D-eb
LLsHear (1), (2), (3) LHDID (4) SBHS
Cab0lg(H&sHe]| .

&l

A B

©
&

QgL ener
ou i Gou eurig

80.
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a8 NY | ©
A B C
o |Gyl o
o | @
| ] o o
g2. | W e
m | | o o
A B C
1) . @)
@) | o @

24

W
81. // @
A C
1) 2
3) 4)
| o o
g2. | A e
m o o
A C
1) 2)
3) 4)




83.

84.

The completion of the figure is :

(2)

(4)

Lt
o [
Y

J\d

/ /\ | /X ?
A B C D
1 |/ XX 2 | XX\
3 |/ XN\ @ |/ XX\

25
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83. Gamr@sslul L UL &l en e
WPWLWTEGD LGS :

8a. | / /N | /X ?

1 |/ XX 2 | XX\

@ |/XN[ @ XN
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85.

86.

87.

Which completes the given figure ?

Find out the alternative figure which

contains figure (X) as its part.

/

/

3)

1) (2) 4)

Which of the following words does not have

water image identical to itself ?

SUN
ICE

HIDE
BIKE

(1)
®)

(2)
(4)

26

85.

86.

87.

CarH&sul L UL 3l en 6o

PPELWTEGLD UGS gl ?

®) (4)

Qar@hssulHerer (X) eTatn LILSenS

®Mm UGHwurss QsTeaml @
Qzfelenens Caira| CFus :
X)
] /
(1) @) ®) (4)
141 67611 (15 LD UTTEH e &6l THS
QU TIT& 6em & udl et & Gor 6wt 1T 19 b LD

Selaurisensenll Gumenm @)(HESHTS?
(1) SUN (2) HIDE
3) ICE (4) BIKE



88.

89.

90.

The water image of g M | s :

X
T

(I
<12

The mirror image of WINNER s :

(1)
()

The mirror image of

AINNIW (2)
R3INNIM (4)

AINUIW
AENNIW

|| is:

-00o0-

27

88.

89.

90.
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X . . . . .
© | -~ g aimanti 19 ibLLb -

o | S o |05
% I
¢ |[m* @ [[x|®

WINNER 6TeumLig et &enrerntimiy. QLD :
(1)  A3aNNIW (2)  aanmw
(3)  RANNIM (4)  AENNIW

|| -61 SaranTmly. LADLILD ¢

-00o0-
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Sireyarapib UGS (LSS 14DHE 2L Ll L g6oe)
FOR ROUGH USE (Not for evaluation)
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LIS Qeuetor
Roll No.

PART -1I: SCHOLASTIC APTITUDE TEST
(For Student of Class VIII)
Time : 90 Minutes Max. Marks : 90
INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part - I.

2. There are 90 questions in this test booklet. All are
compulsory.

3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ‘v or ‘X’ in the OMR sheet.

5. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have left in the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/loose paper.

8. Each correct answer will be awarded one mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. You can retain the Question
Booklet.

10. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

UGS - 11 : upOuleyd Smeir uGHS Coitey
(TLTD e@GLIL| LOIT60T 6UIT & (6Th & &1T 61T Gl

G : 90 HiblL_rhigssi

Caia] ugIuaTsEnsaTear ol LpemmnssT

Qs LHIGLTTSST : 90

afler mTeb QBTG LIEMLS HMILSNHES (p6tT QETHISSIL (HsTam

Al H\(LPEOMSEMETS SEUGITLITS Lilg &SH6LD.

1. el semer uGH-1 CaiallnE suyprisiu’L OMR
afleoLSsmaflCoGw &M&e Gealstor(HILb.

2. @5Gsiailled 90 eflearm&EasT 2 6TaTar. ojemenmsSHHESL0
sL_Lmub eSlemLweflSauL Coussor(HILD.

3. efleorm erevargser 91 - 110 semfigin, 111 - 145 gnflefliweb,
146 - 180 selpss gnflafliLieh LITL_BIS6Em6TE ST HS m6.

4. @aiQaurm alarmailnEn Qarhi&siul (ersr wroHm)
efleoLsafledlmhg sflwurar eflo_uflsnears sevorLMiha)
Ijms OMR aflsnLgsmefled 2 fl o' L SHled sl Hm
umeoumufleor.” Guisarmeleormed &1L Geuetor(pid. ‘v Lommitd X’
I @ouihsmar OMR sl ssrafl Gaius
G L TG,

5. @Ihs @SS TEnSE &ISSILLHTT S 9j6amea) Lilss
GODTETSTS @HUIUSTE 6Ths 6 allearmailnEL
& (D560 CETSHmeE Gsmaniflsamos Crrsms Lss Anhs
pemmufled LGTLGH S S LD.

6. sramug e allammeing ailen, Qsfliualswmen sTarmmed
IHCGIW sTavaflTun Gaimod 9H5s ellarmelng
Qeoen. CrrlipreTed Yseld ol H&6ssrn
afleorr& semar (LPILME] Qe LD,

7. ellen_gemend seorL_Mli GLomGsmeTEmL auLflpsmmasner
efleorm MG STGLIL 6ThIE Goustor(omeTTand GlFiiig)
@amstarorn OMR — eflenLgsmellGoor g g
gerflsEmeaflGour QFiINLS S L Tg).

8. paGeurgm sflurar eloLs@0n @ WHLUIGUEmT
QULBISLILIHILD.

9. Gy Puyhs UmEe OMR aimLggramear LG
oS & etor smemflimerfiLd Qasrhisseain. eflarmmrs
Gam@Lienu Gariear sT(hSg1EF Glgasueuid.

10. s7Capamd sle55 GsmLiiy Qamerar Goustrigll (SLplemev
MU 1) QoS uH6aImTmamTS &aIMTL6
SOIILeb.

USS5mES H(HULL LSoelsss QML hisa|L.
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91.

92.

93.

94.
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MATHEMATICS/ & ewfl5 10

Which of the following does not represent

an integer ?

(1) 0+(-13)
2) 36+(-9)
B) (—16)+4
4) 17+3

The region occupied by the closed shape is
called :

(1) area
(2) perimeter
(3) breadth

(4) length

The perimeter of a parallelogram whose

adjacent sides are 4.2 cm and 3.8 cm is :

(1) 12cm (2) 16 cm

B) 24 cm (4) 22cm

‘Diamond crossing’ refers to the shape

(1) Square
(2) Parallelogram
(3) Rhombus

(4) Rectangle

91.

92.

93.

94.

1Gl6me(HeUaTeUDMIET 6Tl 6(h (P(LHenes
G&D&GHTE ?

(1) 0+(—13)
2) 36+(—9)
3 (-16)+4
4) 17+3

__________ GTETLIG eplg Ul Gulgeus e

DML L FOGETL u@gﬂu_lrr@Lb.

(1) urdueTey

(2) spmarey

(3) SIFeLD

(4)  fombd

Shsgearer UGsEET  (PpanpGuw

4.2 Q&.8. wHmd 3.8 Gg.5. CQamewrL
@ emeantargdlen HHmeTe :

(1) 12 Q&..8. (2) 16 Q&..5.

(3) 24 Qs.i6. (4) 22 Qg.i6.

‘Lwnerl Slyrdlm’ ererug)

QUG eISNSS GHDISGLD.

(1) sgrw
(2) GeverTsrD
(3) &mMWESTLD

(4) Os6ueusd
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95.

96.

97.

98.

A symbol having a fixed numerical value is
called __

(1) Variable
(2) Algebraic expression
(3) Like term

(4) Constant

An algebraic expressions which is equivalent
to the verbal statement “Five times the sum

of aand b” is :

(1) 5a+b 2) 5+a+b

3) 5(a+b) (4) 5+ab

When two ratios a : b and ¢ : d are equal

then, we say that the ratios are in :

(1) Square
(2) Inverse proportion
(3) Proportion

(4) Direct proportion

The decimal representation of 89 cm in meter

is:
(1) 0.89 (2 8.9

(3) 0.089 (4) 89

95.

96.

97.

98.

wrorg  erewr  WwHlenuds Clamar

Gl {C R — :

1) wrl

2) Qupsmiss Carenel
(%) @85 2puy

(4)  wmled

Ya wpmid b - Qe smBgadlen BHg)
DLBIE — erared  eumiGomhé
FpmIGEGL urmSHoTer QuinHseantss
GCamreneu :

1) 5a+b (2) 5+a+b
(3) 5(a+b) (4) 5+ab

@rar(h aldlghisermer a : b wHmLD ¢ : d
S F W6l FOLMS @)(HHSTE), DeUDHEn
@& odreTanm  GTend

G&OUELeTLD.

1) auiésDd

(2) erdi adlzd
() @&lflg Fwob
@) GCpr aldlsb

89 Qg..8. erevmugen 5L LT LHMID SFDO
QUIg@ILD :

(1) 0.89 2) 8.9

(3) 0.089 (4) 89



99.

100.

101.

102.

103.

The place value of 2 in 103.092 is

(1) Tenths
(2) Thousandths
(3) Hundredths

(4) Tens

If the diameter of a circle is D then, its

circumference is :
(1) 2wD (2)

3) 2mr (4) wr

Another name for exponents is :
(1) Variables

(2) Base

(3) Indices

(4) Constant

The unit digit of 910is :

The maximum possible number of angles in

a triangle is :

99.

100.

101.

102.

103.

([CODE|vIII| 1T | 21 |

103.092 erargled 2-@eim @)L Lol :

(1) ugdlad gemn
(2) prgdler e
(3) midled> ey
4) usgl

Q@@ UL sSler el L 1b D erarileh, ige
&MDETE
(1) 2wD )

(3) 2mr 4) mr

<RE@seNan wHEPTH QU :
(1) wrg

(2)  lgomerd

(3) Qg Fa

4) wrMed

910 grevuidlen eemmmD @E&HD

™) WP&Carants S e SFlsULl s

CamenThIGeT 6T 6TeTemlEHens :
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104.

105.

106.

107.

The symbol = indicates :
(1) Equal

(2) Unequal

(3) Similar

(4) Congruent

The relationship between x and y from the
table.

1
Y 1 7 |is:
(1) y=2x+1 2 y=2x-1
B) y=2x 4) y=2x+5

The multiplicative inverse of the rational

a .
number —, wherea #b is :

b
) - ) =
o - ® T
(3) ab (4) Dba
98
The simplified value of \/\/1% is

104.

105.

106.

107.

= erann @GOG 2 amTTgleug) :

(1) &ww
(2) gL
G @55

(4) &TeuFLLD

Gemeumbd L cuenamrullel(mBg X
LOMD  Y-&G
Qe :

@ e LCGuujerer

1

y 1 3 5 7

(1) y=2x+1 (2)

() y=2x (4)

y=2x-1

y=2x+5

% eremm eNFHLpm eTatTantleh a = b eraile,

9igar QUmEs0 Criomm)

(1)

a

(3) ab (4) Dba

OB CTETLSET F(HSSLILILL Sl :
V162 '
y L ) 2
o 4 @ <
3 2 y 2
@ @ <



108.

109.

110.

In the Cartesian plane x=0 represents :
(1) y-axis

(2) =x-axis

(3) Entire plane

(4) xand y axis

Ravi loses 25% by selling a shirt for < 480/-.
To gain 20%, for how much should he sell
the shirt ?

(1) % 800/- ) T 748/-

(3) T 768/- (4) T 828/-

if it

looks the same after being rotated about its

An object is said to have a

centre through an angle less than 360°.

(1) Translation Symmetry

(2) Reflectional Symmetry

(3) Rotational Symmetry

(4) Line of reflection

108.

109.

110.

([CODE|vIII| 1T | 21 |

sTillefluien SarsHle x=0 eraruig) :

1) y-=és
(2) x-95F&F
®) YW serb

(4) x LOMILD ¥ N&F&

redl e(m Fanl_enwl X 480/- &, dlHLISTED
25% BLLDenL_ M. jeuim 20% @emiib
Qup FlenLew erear allenavd@ allhs
Gouar(Hd ?

(1) % 800/- (2) T 748/-

(3) T 768/- (4) T 828/-

@@ CUTmET, ser emwwHSemnsls LHl
360° -&@E8& Gevpeurear Caranrsdn@s
spodlu Gearb Gr wrdflurss
Cgmremmlemmed <=fL16lLmmeT
SATENLOEWE CETERTL_g)| 6TENS FnMEOLD.

1) @LuQuuwie| gwgér
2) erdQrmefiiliy gwafr
(3) &L FOFET

4) erdldymefliys Csm(h
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SCIENCE/ gjnleSluiev

111. The nearest star to our solar system is

112.

1)
(2)
(3)
(4)

Proxima centauri
Alpha centauri
Barnard’s star

Sirius

Choose the correct statement(s).

(@)

Total length of a path taken by an
object to reach one place from another

is called displacement.

The shortest distance from the initial
position to the final position of an object

is called displacement.

Both distance and displacement

possess the same unit.

The SI unit

displacement is m/s.

of distance and

(i) only
(iv) only
(ii) and (iii) only

(i) and (iv) only

111. pwg &Gflwu GHLUSHDEG Ws mled
SjenbgleTer allearriSen

112.

1)
(2)
(3)

LprgSlomr Gaesrmil
<20 oL GQFerLmif]

urermiL_ e eworiSeor

(4) SAflwev

sflurer  spm /| SwmOmsHTS

CaibolgHdsea b :

@)  efsddmbg LHEAD T
Qrems SdLasHE 20

QUIT T SLBg eUbS LITenguder
Qurss Herd QLUCQUWIFS
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113.

114.

115.

116.

Pick out the correct pair :

(1) 45°C=118°F
(2) 20°C=68°F
(3) 100 K=173°C
(4) 185°F=86°C

Pick the odd one out:

(1) Button cell

(2) Alkaline cell

(3) Automobile battery
(4) Dry cell

What type of Galaxy is the Milky way ?

(1) Spherical galaxy
(2) Irregular galaxy
(3) Barred spiral galaxy
(4) CElliptical galaxy

was launched using the India’s
first satellite launch vehicle SLV.3.

(1) Aryabhatta

(2) Rohini 1

(3) Chandrayan-2
(4) Bhaskara-II

113.

114.

115.

11e6.

([CODE|vIII| 1T | 21 |

sflurer @Qeareows Cs5rH0s-
(H&FHLD :

(1) 45°C=118°F

(2) 20°C=68°F

(3) 100 K=173°C

(4) 185°F=86°C
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117.

118.

119.

120.

If a light ray strikes a reflective plane surface
at an angle of 37° with plane surface, then
the angle between the incident and reflected

ray is:

74°
106°

94°
37°

(1)
®)

(2)
(4)

Arrange the given materials according to

their density in ascending order.

(i) Iron (i) Water
(iii) Copper (iv) Mercury
(1) (), @), (i), ()

(2) (i), (@), @), (i)

(3) (@), @), (i), (i)

(4) (i), (@), (@), @)

The heat energy required to melt 5 kg of ice
. (Specific latent heat of

(1) 336]

(2) 16]

(3) 1.68x100]
(4) 5x10°]

The temperature at which the ferromagnetic

material becomes paramagnetic is called

(1) Critical temperature
(2) Observed temperature
(3) Curie temperature

(4) Boiling temperature

10

117. g @aflsadlr erdlQrrefliyg sersdled
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(2)  (id), (@v), (@), (i)
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5 &l.8l. erevLwerer LaflGsLl g 2 (h&
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(1) 336]

(2) 16]

(3) 1.68x100]
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QeuliLblened :

1) sdwwrer Ceuliublene

(2) seaualssiul L Ceuliublene

@) S Aeulsublenc

(4) Osrds@b Geuliublane



121.

122.

123.

124.

The solar and lunar eclipse occur due to the

property of light.

(1) Total internal reflection
(2) Rectilinear propagation
(3) Polarization
(4) Interference

Sulphur - Agriculture, Gallium -

(1) Computer chip
(2) Mobile phone
(3) Crackers

(4) Ornaments

The first scientist to use symbols for

elements :

(1) John Dalton
(2) Berzelius

(3) Robert Boyle
(4) Lavoisier

During melting, boiling, freezing and

condensing changes.

1) Physical state

(1)

(2) Chemical state
(3) Mass

(4) Volume

11
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122.
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124.

Fooulm - edleusmuLd, Sredlw -
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125. During polymerization, the monomers are

126.

127.

joined together by
(1) Ionic

(2) Covalent

(3) Co-ordinate

(4) Hydrogen

Match the following :

(@) PVC 6
(b) Polyester (ii)

() LLDPE (i)

(d) EPS (iv)

Pick out the odd one :

bonds.

Umbrella
Pen

Fake leather

Artificial grass

(1) Diphenhydramine

(2) Diclofenac

(3) Chlorpheniramine

(4) Cimetidine

12

125. ueUWITSEEOTCUTE @hepmLILIg&H6T
HenenTILiEemTed @QenenTdlemmet.

1)  siwe

2) ssQemenTiiy
G e@Edaamey
(4)  eaplrgen

126. QUTHSSHS
(a) PVC i @G

(b) uwrelQuevrrr (i) Cuerr

(c) LLDPE i)  Cumed
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(d) EPS (iv) Gewupems
Lib&eiT

® @ Gv) @) ()
2 Gv) @ @) ()
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128.

129.

130.

131.

Which type of fire extinguisher can tackle
upto 1000 volts ?

Dry powder

CoO,

Foam

Water

increases

Hypothalamus the body

temperature against pyrogens by releasing

a chemical called
Prostaglandin
Melanin
Thyroxin

Adrenalin

The metal used in automobile batteries :

Copper
Silver
Lead

Aluminium

The symbol of Antimony is
(2)
(4)

At

Sb

13
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132. Match the following :

133.

(a)

(b)

Sulphuric (i)  Preserve
acid pickle
Sodium (i) Antacid
hydroxide
Magnesium (iii) Dehydrating
hydroxide agent
Benzoic acid (iv) Textile
industries

@ (b) (o (d)
(v) @ (@) (i)
(i) (@v) @ @
(i @ (@) ()
() (@v) @) (i)

Select the correct statement.

(1)

Sucker grows diagonally downward

and gives rise to new shoot.

Wild strawberry is an example of

Runner.

In stolon, when the branch of the stem
touches the ground it does not give rise

to a new plant.

An offset has a tuft of leaves and

cluster of roots below.

14
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134.

135.

136.

137.

Name the root used by Cuscuta to penetrate

into the tissue of the host plant and suck

nutrients.

(1) Epiphytic roots
(2) Haustoria

(3) Prop roots

(4) Climbing roots

In Acacia auriculiformis, petioles expand to

form like structure.
(1) Leaf

(2) Flower

(3)  Fruit

(4) Seed

Yeast reproduces by

(1) Spore formation

(2) Budding

(3)  Vegetative propagation
(4) Fragmentation

Find the odd one out :

(1) Basidiomycetes
(2) Myxomycetes
(3) Phycomycetes
(4) Ascomycetes

15

134.

135.

136.

137.

([CODE|vIII| 1T | 21 |

SEVGHLLIT STEUTHISET £LPEOLD
@LUUINS sTeurs SHaEssmens SleneTss),
S S arer oIl L §FSMG

2 Mlepadlermaer.
(1) Ogrom Ceurger
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138.

139.

141.

Araucaria bidwillii is a/an

(1) Ornamental plant
(2) Medicinal plant
(3) Fern

(4) Aquatic plant

Which of the following is a correct
sequence ?

(1) Organism, Organ system, Organs, Cell,
Tissue.

Cell, Tissue, Organ, Organ system,
Organism.

Organ, Cell, Organism, Tissue, Organ
system.

Organ system, Tissue, Organ, Cell,

Organism.

synthesize proteins and

polypeptides.
(1) Chloroplast
2)  Ribosome

Endoplasmic reticulum

)
)
)
4)

(
3
( Cytoplasm

is given as the best medicine for

treatment of anthrax.

(1) Ciprofloxacin
(2) Ibuprofen

(3) Aspirin

(4) Ventolin HFA

16
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142.

143.

144.

145.

Wool is derived from fur of animals of

family.
(1) Agnatha
(2) Cnidaria
(3) Caprinae
(4) Rodentia

Bacille Calmette Guerin vaccine is given for

preventing

(1) Measles

(2) Plague

(3) Polio

(4) Tuberculosis

Example of spiral shaped bacteria :

(1) Vibrio Cholera

(2) Helicobacter Pylori

(3) Staphylococcus aurius
(4) Bacillus anthracis

Pick out the incorrect statement.
Inhalation :

(1) The diaphragm goes upward.

The volume of thoracic cavity

increases.

Air enters the lungs through the nose.

The muscles of the diaphragm

contracts.

17
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146.

147.

148.

SOCIAL SCIENCE / &¢1pas jmleSlwiev

Who founded the Vikramashila Monastery ?

(1) Gopala

(2) Dharmapala
(3) Devapala

(4) Mahipala

Who was the first and prominent ruler of

Pratiharas ?

(1) Mihirabhoja
(2) Nagabhatta II
(3) Rambhadra
(4) Nagabhatta I

Assertion (A) : In Kayal, there was an
agency established by an Arab Chieftain by

name Malik-ul-Islam Jamal-ud-Din.

Reason (R)

availability of arms and ammunitions to

: This agency facilitated

Pandya Kings.

Both (A) and (R) are correct.
Both (A) and (R) are incorrect.

(A) is correct but (R) doesn’t explain (A).

(A) is correct and (R) explains (A).

18
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149.

150.

151.

152.

Balban patronised the famous persian poet

(1)  Amir Khusru

(2) Faiz Ahmed Faiz
(3) Deccani Wali

(4) Ferdowsi

Krishnadevaraya was succeeded by his

younger brother

(I) Rama Raya

(2) Sadasiva Raya

(3) Thirumaladeva Raya
(4) Achtyuda Raya

There were constant wars between the

Bahmani and Vijayanagar rulers over the

fertile regions.

(1) Vedavathi and Godavari
(2) Tungabhadra and Godavari
(3) Tungabhadra and Krishna
(4) Godavari and Krishna

Ibadat Khana, a hall in the new Fathepur

Sikri city was constructed by

(1) Babur

(2) Humayun
(3) Shajahan
(4) Akbar
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153.

154.

155.

Match the following :
(a) Wakil (i)  The Chief Judge
(b) Wazir (ii) Incharge of

or diwan the army
() Mir (iii) Prime
Bhakshi Minister
(d) Qazi (iv) Incharge of the
revenue and
expenditure
@ ) © @
W) @ @) @ 6
@ 6 @ Gv ()
G) v @) 0 @
) @ @) O G

Khabir’s verses were composed in

language mixed with Urdu.

(1) Pali

(2) Prakrit

(3) Bhojpuri

(4) Sanskrit

The monuments and temples

were notified as a UNESCO World Heritage
Site in 1984.

1) Mamallapuram

3
4

(1)

(2) Anaimalai
(3) Sithannavasal
4)

Thiruparankundram
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156. Arrange the following events in the

chronological order :

(a) Battle of Wandiwash
(b) Battle of Buxar

(c) Battle of Ambur

(d) Battle of Plassey

157. Find out the incorrect pair :

(1) Treaty of Paris -  Third Carnatic
War

(2) Treaty of Madras -  Second Anglo-
Mysore War

(38) Treaty of Salbai -  The First
Anglo-
Maratha War

(4) Treaty of - The Third
Srirangapatnam Anglo-Mysore
War
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158. Match the following :

159.

(@) Lord William (i) Ryotwari
Bentinck System
(b) Lord Cornwallis (i) Annual
Settlement
(c) Thomas Munro (iii) Permanent
Settlement
(d) Robert Clive (iv) Mahalwari
System
@ () (9 (9
1) (v) @) @ @
2 (@) @O @ ()
¢ @ @ @ @)
4 O @) (@) (@)

Royal commission on public service was

chaired by

(1) Chelmsford

(2) Lord Islington

(3) Lord Cornwallis

(4) Lord William Bentinck
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160. The mantle is separated from the crustby a | 160. yel CuwCarHb, seugupd

boundary called : eren) eTvaney epeld LAflEsLLIBEmg).
(1) Weichat - Gutenberg (1) Geuwsril @GLLer Qurs

(2)  Asthenosphere (2) Glwer AHSG

(3)  Exogenitic force (B) ym 2bg FEdlsEer

(4) Mohorovicic 4) CurCanrCrreldl s

161. Active Volcanoes are found in the islands of | 161. Qewe B eriflwen e &er
Sayzafled srenriLBlemmen.

(1) Malaysia (1) wCedlwur

(2) Indonesia 2) @pGsrGaraglwm
(3) Hawaii (3) ameumw

(4) Japan (4)  suumen

162. Which one of the following is not an 162. GeneumeuameupmieT 6rg 21flgsadlemmed

erosional feature of land forms ? o @ T@&WD HloogsCsrhmiea ?
(1) Cirque 1) &1&

(2) Moraines (2) Gorerrerser

(3) Arete (3) SQrl@®

(4) Inselbergs 4) Qenblgourrs
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163.

164.

165.

Loess is found in

Canada

Srilanka

China

France

The country which ranks first in the

production of copper :
China

Australia

India

Chile

Which of the following strait separates North

America from Asia ?
Bering strait
Cabot strait
Strait of canso

Cebu strait
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163.

164.

165.

STHOIG EUERTL 6 Lllq & &6T HTenrliL(h b
@Lb :

(1) serm
(2 Qeonims
(3) e

G yresten

4)

sTOr 2 pusHleo 2 w5 erele
WSOILLD UGG B :

(1) Eerr
2)  <avdCradum
3) Qg
@) Aa

aps Bréspd e HCwhssrene
g Hwurelledmpg GAsHng ?

Cufli Brésmnd
sGur’ Brégpd
CaanGar Birsgpd

Qg Brasmnd



166. Quito, a place in South America situated

almost on the same latitude as that of hottest
Amazon basin experiences Eternal Spring

because :
(1) of its high altitude

it passes through equator

it is surrounded by forest

it lies close to the sea

167. Which of the following connects South

168.

America and North America ?
Atlantic Ocean

Isthmus of Panama
Island of Tierra del Fuego

Equator

Tsunami is :

(1)

The roaring huge waves proceeding

towards the sea shore.

()

Movement of destructive plates in the

ocean floor.

Explosive volcanic eruption in sea

oceans.

All the above.
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166.

168.

([CODE|vIII| 1T | 21 |

<dls  Ceuliublene
<|Gwarean aughleots LGdHuder LSSl
Crensss @55 NG5 2 sCGrenguldle
2A@LHABEGD GICLT, Hrbsr eishs
ETOS5MS AaLelsSHDg). erbleamete :

1)

&mewr LI LI (H D

sL® LLLGHDEG Cod, ds
2 TS AMDBHEIETETSTE

Suu@gdHuiler aPGuw ywsdw
Crens Cladeugmed

ST(H&HET GLPHGIETETSTED
SLI&SG W& Dmdled @mULgTeD

L 0wfé&sreneuud,

Qger AGMGSTMEULID QeneTESng.
Sl manrigd ©lLHhISL 6
LeTTLom Bleo&snal

qwImgm QL ool A, Cam Sey

P& G L_ITIT

el eTerLg)

(1) sLhsoraw Crrédl Gobephgl

EMoumd QUEHL SiEmaEeT
sLeurlibe
bS5 ([HS60

2) Lol &1 [ sar

QUHEISL &t 2 6Ter erifleney
Qauigsged

CHEHaTL HM&MSIHILD
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169. Example of anthropogenic hazards are

Chemical explosion

Earthquake

Flood

Volcanic eruptions

170. Match the following :

(@)

(b)

Primary Rocks (i)  Fire

Igneous Rocks (ii) Parent Rocks

Magma (iii) Plutonic

Deep seated (iv) Lava

rocks

@ () () (d)

@@ (@ (v) (i)

(iv) @) (@) @)

®)  Gv) () (i)
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169. walgerTe SEEICIT QL (1&S
T(HSGSSETL(H :

(1) rerwer CeuigLiL
2) Bl dliel
(3) OeudTerid

(4) erfleve GlalgliLjser

170. QurBpEEs

@ wseaewl () §

LITE»M &6

(b) G&etwev (i) smulium-

LITEn M &6l MDG&ET
() =2mSu (ili) wTgmerLl
LITEnM& @ LOLDL LITE»M&6T

(d) Stquimpl iv) eomeurm
LITe»M&6IT

1 @ @ (@v) (i)
() Gv) (@) @) @)
() @) @) @O (@)

@ O G @ ()



171.

172.

173.

The North-western African countries of
Morocco, Algeria, Libya, Mauritania and

Tunisia are collectively called :

(1) Maghreb
(2) Border
(3) Margin
(4) Karoos

Pick the odd one out :

(1) Maitri

(2) Dakshin Gangotri
(3) McMurdo

(4) Bharathi

Match the following :

(a) River Congo (i) Australia

(b) River Niger (i) Western
Zambia

() River Zambezi (iii) Highlands of
Guinea

(d) River Murrey  (iv) North
Eastern
Zambia

@@ (b) (9 (d)

1 @ @ Gv) ()

2 @@ @ @) ()

() Gv) (@) G @

4) @) @) @ @
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172.
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auLGunE Uubfss prhserrear
QurrrsGar, e flwm,
gaflflur, CoriCLraflwur

Brh&eflen @ :
Gws Gl

e0ligwim,
<&l W

Aur@psrs geaops Coibels®é-

S :

(1) ewsh
2) sldler smCsrsil
(B) GwsuprGLm
4) umrg
. QuUTmSSIS
sTaiCaEr @m (1) <pevdCradwm
b <opm (i) euLCbnHg
somibLwim
gTbUS < m (i) SHetwr
2_WITHl QOIS 6T
wprCr B (iv) euLdp&E
somLwim
@ () (o9 (d
® @ @) (@v) (i)
2 @ @ @) (@)
@) (@v) @) @) @
4) (@) (@v) @@ @)
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174. Right to vote is a 174. @JrréS@rﬂ@DLD CTGITLIZ) 6(Th

(1)  Social Equality (1) &eps FSHEID
(2) Civil Equality (2 G4 FOSHFIEULD
(3) Political Equality (B) <irflwe Fosgleld

(4) Gender Equality (4) ureler Fosgleld

175. Match the following : 175. QurBpEEs
(@) Article 15 (i)  abolishes the (@) sl9fley 15 () uwlLmiser
title conferred to el &g
citizen Coumiu(hsgI-
FOD SN
Cewldlpg
(b) Article 16 (ii) deals with the (b) slLlnlfley 16 (i) ur@UTLeL
prohibition of s CFldlng
discrimination
(c) Article 17 (iii) provides equality (¢ slrulfley 17 (i) OGurg Ceuemev
of opportunity in cumied
public 2| ED 6L (h (&) LD
employment FLO GUITWILILY
et &S gl
(d) Article 18 (iv) abolishes the (d) slL09fley 18 (iv) SewrLrenwenw
practice of RUISS g
untouchability
@@ (b) (o) (d) @@ (b) (o) (d)
1) @) @v) @ @ 1) @) G@v) @ @
2 O @) (@Gv) (@) 2 O @) (@) ()
© @ @ @ 0 © @ @ @ 0
@ @ 6 @ G @ G 6 @) G
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176.

177.

178.

Which of the following statements are
correct with regard to recognition of a
political party ?

(i)  Should have been engaged in political
activity for 5 years.

Should possess adequate financial
assistance.
Should have secured atleast 6% of total

votes in the last general election.

All the candidates should possess

higher educational qualification.

(1) (i) and (ii) only
(2) (i) and (iii) only
(3) (i) and (iii) only
(4) (iii) and (iv) only

The leader of opposition party of Lok Sabha

enjoys the rank of

(1)  Chief Minister
(2) Speaker

(3) Cabinet Minister
(4) Minister of State

Under which Act, Provision for the

formation of Supreme Court was made ?
(1) Charter Act, 1726

(2) Regulating Act, 1773

(3)  Civil Procedure Code, 1859

(4) Govt. of India Act, 1935
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176.

177.

178.
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@ L8 gmdsflssiiuL Ceauam@Hib
aafle, Gerameliareupmer eTHS
FaHMIGET FHlwrerenc ?

(i) @by arhsar T
Ceweourhseaie FHULGHESS
Geuert(hib.

Coamaiwmer QUTHETTSTF Li6wT
cugdlepwits Qupmm&s Ceuer(Hb.
@ndHurs peoL_GCupm Csirgede
GODHSLLED 6% 6UTEHGSHE6TL
QuOHMmEs Ceuer(HLd.

(iv) mens g Gou L LImerT T & (g Lb
2 Wirgeedlenw Ll AIEHIGE:T:
Gouemt(hib.

(1) (@) womid (i) LD
(2) (i) womD (iii) L (HD
(3) (i) womLD (iii) L (HLD
4) (

iii) OMILD (iv) WL (HLD

w&saTamelller erdlis HF FHmealm

__________ SABSHEVEN S G
Ol&mevTiq (HLILITT.

(1) s WEST

(2) sUTBTWST

3) GCslarl ewser

(4) bl eFET

2 5Bl emmLd S LILISDH S

aulflel@ss FLL b erg) ?
(1) &srgend &L b, 1726
(2)
(3)

QMG (PepmE &L b, 1773
o Menudlwed Benl(pepmd FL L b,
1859

4) @bSu orss LD, 1935
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179. Choose the correct pair : 179. sflurenr @evamsmers CHrH6SM0H-
H&aLD :
(i) Physical capital - Shares (i) w@mLUOUTHET -  LIBIGSET
ELPELSEITLD
(i) Money capital - Bank (i) UBIG POSTD -  GUEIE
deposits M6ULIL|&6T
(iii) Human capital - Health (ili) weflg ppogerd - &STSTFD
(1) (i) and (ii) only (1) @) wHmb (i) LI b
(2) (i) and (iii) only (2)  (ii) wHmID (iii) LG
(3) (i) and (iii) only (3) () wHmb (iii) LU b
(4)  All of the above (4) Cuwpsream ojenerggn

180. Which one of the following is not the 180. gepals Qumrmerrsry wperGarhnsans

indicator of the Socio-economic Sjereill  Gereumeuareummdled erHSHE
Development ? GMWUG LweaTu@ssiuBeuddeme ?
(1) Black Money (1) s@mUYL UewmTD
(2) Life expectancy (2) WL smeld
(3) Gross Domestic Product (3) Qwrss 2 eaBr(h 2 HusS
(4) Employment 4) GeuseveumiiLiL]

-00o0- -00o0-
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Sieysranin LGS (LS 1GHE 2L L L S6oev)
FOR ROUGH USE (Not for evaluation)
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Sireyarapib UGS (LSS 14DHE 2L Ll L g6oe)
FOR ROUGH USE (Not for evaluation)
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